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QUESTION 1

Automatic data conversion will occur if which of the following happens? 

A. The client and server have different NLS_LANGUAGE settings. 

B. The client and server character sets are not the same, and the database character set is not a strict superset of the
client character set. 

C. The client and server are in different time zones. 

D. The client requests automatic data conversion. 

E. The AUTO_CONVERT initialization parameter is set to TRUE. 

Correct Answer: B 

 

 

QUESTION 2

Flashback Database relies on which technologies to recover to a point in time? 

A. Flashback Data Archive 

B. Flashback logs in the flash recovery area 

C. FlashbUndo tablespace 

D. RMAN command line 

E. None of the above 

Correct Answer: B 

 

QUESTION 3

Which three statements correctly describe the features of the I/O calibration process? (Choose three.) 

A. Only one I/O calibration process can run at a time. 

B. It automates the resource allocation for the Automated Maintenance Tasks. 

C. It improves the performance of the performance-critical sessions while running. 

D. It can be used to estimate the maximum number of I/Os and maximum latency time for the system. 

E. The latency time is computed only when the TIMED_STATISTICS initialization parameter is set to TRUE. 

Correct Answer: ADE 

1Z0-053 PDF Dumps | 1Z0-053 Exam Questions | 1Z0-053 Braindumps                                2 / 4

https://www.leads4pass.com/1z0-053.html
https://www.leads4pass.com/1z0-053.html
https://www.leads4pass.com/1z0-053.html


https://www.leads4pass.com/1z0-053.html
2024 Latest leads4pass 1Z0-053 PDF and VCE dumps Download

 

 

QUESTION 4

Which are the correct steps, in order, to deal with the loss of an online redo log if the database has not yet crashed? 

a: Issue a checkpoint. 

b: Shut down the database. 

c: Issue an alter database open command to open the database. 

d: Startup mount the database. 

e: Issue an alter database clear logfile command. 

f:

 Recover all database datafiles. 

A. 

a, b, c, d 

B. 

b, d, e, c 

C. 

a, b, d, e, c 

D. 

b, f, d, f, c 

E. 

b, d, a, c 

Correct Answer: C 

 

 

QUESTION 5

Every resource plan must contain an allocation to which consumer group? 

A. LOW_GROUP 

B. SYS_GROUP 

C. DEFAULT_GROUP 
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D. BASE_GROUP 

E. OTHER_GROUPS 

Correct Answer: E 
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